# Another Kannan Version of Suzuki Fixed Point Theorem 

Vidyadhar V. Nalawade ${ }^{\# 1}$, U. P. Dolhare $*^{2}$<br>${ }^{\text {\# Department of Mathematics, S. G. R. G. Shinde College, Paranda, Dist. Osmanabad, (M. S.), India }}$<br>*Department of Mathematics, D.S.M. College, Jintur, Dist. Parbhani, (M.S.), India


#### Abstract

This research paper is inspired from an interesting result relating to fixed point theory of complete metric space. The fixed point theorem by Suzuki characterizes the metric completeness of the underlying space. Suzuki in his further work along with Kikkawa also proved a Kannan version of the same theorem. In this research paper we have proved another Kannan version of the Suzuki theorem.


Keywords: Complete Metric Space, Fixed point.

## I. INTRODUCTION

Banach Contraction Principle [1] is very useful because it is a strong tool in nonlinear analysis. It has various generalizations [2-14].But Banach theorem does not characterize the metric completeness. Connell [15] gave an example of a metric space X such that X is not complete and every contraction on X has a fixed point. In this context Kannanfixed point theorem [16] is very important because Subrahmanyam [17] proved that Kannan theorem characterizes the metric completeness of underlying spaces. Tomonari Suzuki [18] also introduced a new type of mapping. This mapping not only generalizes theBanach Contraction Mapping Principle but also characterizes the completeness of the underlying metric space. M. Kikkawa and T. Suzuki [19] presented Kannan version of Suzuki theorem. In this paper we state and prove a fixed point theorem that uses Suzuki mapping and Kannan type of contraction.

## II. Preliminaries and Definitions

Definition 2.1:Let $(X, d)$ be a metric space and let $T$ be a mapping on $X$. Then $T$ is called a "Contraction" if there exists $r \in[0,1)$ such that
$d(T x, T y) \leq r d(x, y) \forall x, y \in X$

Definition 2.2: Let $(X, d)$ be a metric space and let $T$ be a mapping on $X$. Then $T$ is called "Kannan" if there exists $\alpha \in[0,1 / 2)$ such that
$d(T x, T y) \leq \alpha d(x, T x)+\alpha d(y, T y) \forall x, y \in X$.
The following famous theorem is referred to as the Banach contraction principle.

Theorem 2.1 (Banach) [1]: Let $(X, d)$ be a complete metric space and let $T$ be a contraction on $X$. Then $T$ has a unique fixed point.
Theorem 2.2 (Suzuki) [18]: Define a non-increasing function $\theta$ from $[0,1)$ to $(1 / 2,1]$ by
$\theta(r)=\left\{\begin{array}{l}1, \\ \frac{1-r}{r^{2}}, \\ \frac{1}{1+r},\end{array}\right.$

$$
\begin{aligned}
& \text { if } 0 \leq r \leq \frac{\sqrt{5}-1}{2} \\
& \text { if } \frac{\sqrt{5}-1}{2} \leq r \leq \frac{1}{\sqrt{2}} \\
& \text { if } \frac{1}{\sqrt{2}} \leq r<1
\end{aligned}
$$

Then for a metric space $(X, d)$, the following are equivalent:
(1) $X$ is complete.
(2) Every mapping $T$ on $X$ satisfying the following has a fixed point: there exists $r \in[0,1)$ such that
$\theta(r) d(x, T x) \leq d(x, y)$ Implies $d(T x, T y) \leq r d(x, y)$ for all
$x, y \in X$.
Theorem 2.3(Kikkawa and Suzuki) [19]: Let $T$ be a mapping on complete metric space $(X, d)$ and $\theta$ be a non-increasing function from $[0,1)$ onto $(1 / 2,1]$ defined by
$\theta(r)=\left\{\begin{array}{l}1, \\ \frac{1-r}{r^{2}}, \\ \frac{1}{1+r},\end{array}\right.$

$$
\begin{aligned}
& \text { if } 0 \leq r \leq \frac{\sqrt{5}-1}{2}, \\
& \text { if } \frac{\sqrt{5}-1}{2} \leq r \leq \frac{1}{\sqrt{2}} \\
& \text { if } \frac{1}{\sqrt{2}} \leq r<1
\end{aligned}
$$

Suppose that there exists $r \in[0,1)$ such that
$\theta(r) d(x, T x) \leq d(x, y)$ Implies
$d(T x, T y) \leq r \max d(x, T x), d(y, T y)$ for all
$x, y \in X$.
Then $T$ has a unique fixed point $z$ and $\lim _{n \rightarrow \infty} T^{n} x=z$ holds for every $x \in X$.
The following is aKannan version of the Suzuki Theorem.
Theorem 2.4(Kikkawa and Suzuki) [19]:Let $T$ be a mapping on complete metric space $(X, d)$ and $\theta$ be a non-increasing function from $[0,1)$ into $(1 / 2,1]$ defined by
$\theta(r)= \begin{cases}1, & \text { if } 0 \leq r \leq \frac{1}{\sqrt{2}}, \\ \frac{1}{1+r}, & \text { if } \frac{1}{\sqrt{2}} \leq r<1\end{cases}$
Let $\alpha \in[0,1 / 2)$ and $r=\frac{\alpha}{1-\alpha} \in[0,1)$.
Suppose that $\theta(r) d(x, T x) \leq d(x, y)$ implies $d(T x, T y) \leq \alpha d(x, T x)+\alpha d(y, T y)$ for all $x, y \in X$ Then $T$ has a unique fixed point $z$ and $\lim _{n \rightarrow \infty} T^{n} x=z$ holds for every $x \in X$.

## Main Result

The generalization of theorem 2.4 is as follows.
Theorem 3.1:Let $(X, d)$ be a metric space and let $T$ be a mapping on $X$. Let $x \in X$ satisfy
$d\left(T x, T^{2} x\right) \leq r d(x, T x)$ for some $r \in[0,1)$.
Then for $\quad y \in X$ either $\frac{1}{1+r} d(x, T x) \leq d(x, y)$
$\frac{1}{1+r} d\left(T x, T^{2} x\right) \leq d(T x, y)$ holds.
Proof: We assume $\frac{1}{1+r} d(x, T x)>d(x, y)$ and
$\frac{1}{1+r} d\left(T x, T^{2} x\right)>d(T x, y)$.
Then we have

$$
\begin{aligned}
d x, T x & \leq d(x, y)+d(y, T x) \\
& <\frac{1}{1+r}\left[d(x, T x)+d\left(T x . T^{2} x\right)\right] \\
& <\frac{1}{1+r}[d(x, T x)+r d(x, T x)] \\
& =\frac{1}{1+r}(1+r) d(x, T x)=d(x, T x)
\end{aligned}
$$

This is a contraction.
Lemma 3.1:The functions $f(x)=\frac{2 x^{3}+x^{2}+x}{1+x} \quad$ and $g(x)=\frac{2 x^{3}+x}{1+x}$ are monotonically increasing in the interval $[0, \infty)$. Also $f(x)<1$ if $0 \leq x \leq \frac{\sqrt{5}-1}{2}$ and $g(x)<1$ if $\frac{\sqrt{5}-1}{2} \leq x \leq \frac{1}{\sqrt{2}}$. This has been illustrated in figure 3.1.


Figure 3.1: Graphs of the functions $f(x)$ and $g(x)$ in the interval $[0,1]$.
We generalize the theorem 2.4 by using function $\theta$ in the interval $[0,1)$ onto $(1 / 2,1]$ as follows.

Theorem 3.2:Let $(X, d)$ be a complete metric space and let $T$ be a mapping on $X$. Define a non-increasingfunction $\theta$ from $[0,1)$ into $(1 / 2,1]$ by
or $\theta(r)=\left\{\begin{array}{l}1, \\ \frac{1-r}{r^{2}}, \\ \frac{1}{1+r},\end{array}\right.$

$$
\begin{aligned}
& \text { if } 0 \leq r \leq \frac{\sqrt{5}-1}{2} \\
& \text { if } \frac{\sqrt{5}-1}{2} \leq r \leq \frac{1}{\sqrt{2}} \text {, } \\
& \text { if } \frac{1}{\sqrt{2}} \leq r<1
\end{aligned}
$$

Let $\alpha \in[0,1 / 2)$ and $r=\frac{\alpha}{1-\alpha} \in[0,1)$.
Assumethat $\theta(r) d(x, T x) \leq d(x, y)$ implies
$d(T x, T y) \leq \alpha d(x, T x)+\alpha d(y, T y)$ for all $x, y \in X$.
Then $T$ has a unique fixed point $z$ and $\lim _{n \rightarrow \infty} T^{n} x=z$ holds for every $x \in X$.

Proof:We have
$\theta(r) d(x, T x) \leq d(x, T x), \forall x \in X \quad(\mathrm{Q} \theta(r) \leq 1)$.
By hypothesis we have
$d\left(T x, T^{2} x\right) \leq \alpha d(x, T x)+\alpha d\left(T x, T^{2} x\right)$
$\therefore d\left(T x, T^{2} x\right) \leq \frac{\alpha}{1-\alpha} d(x, T x)$
$\therefore d\left(T x, T^{2} x\right) \leq r d(x, T x), \forall x \in X$.
In general
$d\left(T^{n} x, T^{n+1} x\right) \leq r^{n} d(x, T x) \forall x \in X$
We now fix an element $u \in X$ and define a sequence $u_{n}{ }_{n=1}^{\infty}$ in
$X$ by $u_{n}=T^{n} u$.
Then from (1) we have,
$d\left(u_{n}, u_{n+1}\right)=d\left(T^{n} u, T^{n+1} u\right) \leq r^{n} d(u, T u)$.
Taking limit as $n \rightarrow \infty$, since $r<1$, we get $d\left(u_{n}, u_{n+1}\right) \rightarrow 0$ as $n \rightarrow \infty$.

Thus $u_{n}$ is a Cauchy sequence in $X$.
Since $X$ is a complete metric space, $u_{n}$ converges to some point $z \in X$.
We next show
$d(T x, z) \leq r d(x, z), \forall x \in X \backslash z$
For any $x \in X \backslash z$, we have
$d\left(u_{n}, z\right) \leq \frac{d(x, z)}{3}, \forall n \geq v$ for some $v \in ¥$.
Then we must have

$$
\begin{aligned}
\theta(r) d\left(u_{n}, T u_{n}\right) \leq & d\left(u_{n}, T u_{n}\right)=d\left(u_{n}, u_{n+1}\right) \\
& \leq d\left(u_{n}, z\right)+d\left(u_{n+1}, z\right) \\
& \leq \frac{d(x, z)}{3}+\frac{d(x, z)}{3}, \forall n \geq v \\
= & \frac{2}{3} d(x, z)=d(x, z)-\frac{d(x, z)}{3} \\
& \leq d(x, z)-d\left(u_{n}, z\right) \leq d\left(u_{n}, x\right)
\end{aligned}
$$

Thus $\theta(r) d\left(u_{n}, T u_{n}\right) \leq d\left(u_{n}, x\right)$.
By hypothesis we then get

$$
\begin{equation*}
d\left(T u_{n}, T x\right) \leq \alpha d\left(u_{n}, T u_{n}\right)+\alpha d(x, T x), \text { for } n \geq v \tag{3}
\end{equation*}
$$

Taking $n$ tendto $\infty$ we get
$d(z, T x) \leq \alpha d(z, z)+\alpha d(x, T x)=\alpha d(x, T x)$
$\therefore d(z, T x) \leq \alpha d(x, T x) \leq \alpha d(x, z)+d(T x, z)$ (Triangleinequality)
Thus
$d(T x, z) \leq \alpha d(x, z)+\alpha d(T x, z)$
$\therefore(1-\alpha) d(T x, z) \leq \alpha d(x, z)$
$\therefore d(T x, z) \leq \frac{\alpha}{1-\alpha} d(x, z)$
$\therefore d(T x, z) \leq r d(x, z)$

Thus we have shown(2).
Next, we shall show that there exists a $j \in ¥$ such that $T^{j} z=z$
This we show by contradiction method. We assume that $T^{j} z \neq z$ for all $j \in ¥$. As $T^{j} z \neq z, \forall j \in ¥$ we can use inequality(2).
Using inequality (2)we get,

$$
\begin{align*}
d\left(T^{2} z, z\right) & =d(T \mathrm{o} T z, z) \leq r d(T z, z)  \tag{4}\\
d\left(T^{3} z, z\right) & =d\left(T \mathrm{o} T^{2} z, z\right) \leq r d\left(T^{2} z, z\right) \\
& \leq r^{2} d(T z, z)  \tag{5}\\
d\left(T^{4} z, z\right) & =d\left(T \mathrm{o} T^{3} z, z\right) \leq r d\left(T^{3} z, z\right) \\
& \leq r^{3} d(T z, z)
\end{align*}
$$

Thus in general
$d\left(T^{j+1} z, z\right) \leq r^{j} d(T z, z)$ for any $j \in \nexists$
We also observe that for any $x \in X \backslash z$,

$$
\begin{aligned}
d(T x, z) & =\lim _{n \rightarrow \infty} d\left(T x, u_{n+1}\right) \\
& =\lim _{n \rightarrow \infty} d\left(T x, T u_{n}\right) \\
& \leq \lim _{n \rightarrow \infty} \alpha d\left(u_{n}, T u_{n}\right)+\alpha d(x, T x) \quad \text { (by (3)) } \\
& =\alpha d(x, T x)
\end{aligned}
$$

Thus
$d(z, T x) \leq \alpha d(x, T x)$
Therefore
$d\left(T^{j+1}, z\right)=d\left(T o T^{j} z, z\right)$

$$
\begin{array}{ll}
\leq \alpha d\left(T^{j} z, T^{j+1} z\right) & (b y(7)) \\
\leq \alpha r^{j} d(z, T z) & (b y(1)) \tag{8}
\end{array}
$$

Now we consider the following three cases.
Case $1.0 \leq r \leq \frac{\sqrt{5}-1}{2}$
In this case we observe that
$r \leq \frac{\sqrt{5}-1}{2} \Rightarrow r^{2} \leq\left(\frac{\sqrt{5}-1}{2}\right)^{2}$
Therefore
$r^{2}+r \leq\left(\frac{\sqrt{5}-1}{2}\right)^{2}+\frac{\sqrt{5}-1}{2}=\frac{5-2 \sqrt{5}+1+2 \sqrt{5}-2}{4}=1$.
Thus $r^{2}+r \leq 1$.
Assume $d\left(T^{2} z, z\right)<d\left(T^{2} z, T^{3} z\right)$.
Then we have

```
\(d(z, T z) \leq d\left(z, T^{2} z\right)+d\left(T z, T^{2} z\right)\) (by triangleinequality)
    \(<d\left(T^{2} z, T^{3} z\right)+r d(z, T z)\) (by above assumption and (1))
    \(\leq r^{2} d(z, T z)+r d(z, T z) \quad(b y(1))\)
    \(=\left(r^{2}+r\right) d(z, T z)\)
    \(\leq d(z, T z) \quad\left(\mathrm{Q} r^{2}+r \leq 1\right)\)
```

Thus $d(z, T z)<d(z, T z)$.This is a contradiction.
So we have
$d\left(T^{2} z, z\right) \geq d\left(T^{2} z, T^{3} z\right)=\theta(r) d\left(T^{2} z, T^{3} z\right)$

$$
(\mathrm{Q} \theta(r)=1 \text { in this case })
$$

By hypothesis
$d\left(T^{3} z, T z\right) \leq \alpha d\left(T^{2} z, T^{3} z\right)+\alpha d(z, T z)$
Now consider

$$
\begin{array}{rlr}
d(z, T z) & \leq d\left(z, T^{3} z\right)+d\left(T^{3} z, T z\right) & \text { (Triangleinequality) } \\
& \leq r^{2} d(z, T z)+\alpha d\left(T^{2} z, T^{3} z\right)+\alpha d(z, T z) & (\text { by (6) and (9)) } \\
& \leq r^{2} d(z, T z)+\alpha r^{2} d(z, T z)+\alpha d(z, T z) & (\text { by }(1)) \\
& =\left(r^{2}+\alpha r^{2}+\alpha\right) d(z, T z) & \\
& =\left\{r^{2}+\left[\frac{r}{1+r}\right] r^{2}+\left[\frac{r}{1+r}\right]\right\} d(z, T z) \quad\left(\mathrm{Q} r=\frac{\alpha}{1-\alpha} \Rightarrow \alpha=\frac{r}{1+r}\right) \\
& =\left\{r^{2}+\frac{r^{3}}{1+r}+\frac{r}{1+r}\right\} d(z, T z) & \\
& =\frac{r^{2}(1+r)+r^{3}+r}{1+r} d(z, T z) & \\
& =\frac{2 r^{3}+r^{2}+r}{1+r} d(z, T z)<d(z, T z) & \quad\left(\mathrm{Q} \frac{2 r^{3}+r^{2}+r}{1+r}<1 \text { if } 0 \leq r \leq \frac{\sqrt{5}-1}{2}\right)
\end{array}
$$

(Seelemma3.1)
Thus $d(z, T z)<d(z, T z)$. This is a contradiction.
Case 2. $\frac{\sqrt{5}-1}{2} \leq r \leq \frac{1}{\sqrt{2}}$.
Assume that $d\left(T^{2} z, z\right)<\theta(r) d\left(T^{2} z, T^{3} z\right)$.Then we have

$$
\begin{array}{rlr}
d(z, T z) & \leq d\left(z, T^{2} z\right)+d\left(T z, T^{2} z\right) & \\
& <\theta(r) d\left(T^{2} z, T^{3} z\right)+d\left(T z, T^{2} z\right) & \\
\text { (by triangle inequallity) } \\
& \leq \theta(r) r^{2} d(z, T z)+r d(z, T z) & \\
& =[\theta y(1)) \\
& =\left[\frac{1-r}{r^{2}} r^{2}+r\right] d(z, T z)\left(\mathrm{Q} \theta(r)=\frac{1-r}{r^{2}} \text { inthis case }\right) \\
& =d(z, T z)
\end{array}
$$

Thus $d(z, T z)<d(z, T z)$. This is a contradiction. Hence $\theta(r) d\left(T^{2} z, T^{3} z\right) \leq d\left(T^{2} z, z\right)$.

Then by hypothesis we get
$d\left(T^{3} z, T z\right) \leq \alpha d\left(T^{2} z, T^{3} z\right)+\alpha d(z, T z)$
Now consider

$$
\begin{aligned}
d(z, T z) & \leq d\left(z, T^{3} z\right)+d\left(T z, T^{3} z\right) \quad(\text { by triangle inequality }) \\
& \leq \alpha r^{2} d(T z, z)+\alpha d\left(T^{2} z, T^{3} z\right)+\alpha d(z, T z) \quad(\text { by }(8) \text { and }(10)) \\
& \leq \alpha r^{2} d(T z, z)+\alpha r^{2} d(z, T z)+\alpha d(z, T z) \quad(\text { by }(1)) \\
& =\left[2 \alpha r^{2}+\alpha\right] d(z, T z) \\
& =\left(2 \frac{r}{1+r} r^{2}+\frac{r}{1+r}\right) d(z, T z) \\
& =\left(\frac{2 r^{3}+r}{1+r}\right) d(z, T z)<d(z, T z) \\
& \quad\left(\mathrm{Q} \frac{2 r^{3}+r}{1+r}<1 \text { if } \frac{\sqrt{5}-1}{2} \leq r \leq \frac{1}{\sqrt{2}}\right) \\
& \quad(\text { Seelemma3.1) }
\end{aligned}
$$

Thus $d(z, T z)<d(z, T z)$. This is a contradiction.
Case 3. $\frac{1}{\sqrt{2}} \leq r<1$
We note that from theorem 3.1 for any $x, y \in X$ either
$\theta(r) d(x, T x) \leq d(x, y)$ or
$\theta(r) d\left(T x, T^{2} x\right) \leq d(T x, y)$.
In particular putting $x=u_{2 n}$ and $y=z$ we get,
$\theta(r) d\left(u_{2 n}, u_{2 n+1}\right) \leq d\left(u_{2 n}, z\right)$ or $\theta(r) d\left(u_{2 n+1}, u_{2 n+2}\right) \leq d\left(u_{2 n+1}, z\right)$
holds for every $n \in ¥$.
By hypothesis we get
$d\left(T u_{2 n}, T z\right) \leq \alpha d\left(u_{2 n}, T u_{2 n}\right)+\alpha d(z, T z)$ or
$d\left(T u_{2 n+1}, T z\right) \leq \alpha d\left(u_{2 n+1}, T u_{2 n+1}\right)+\alpha d(z, T z)$.
That is
$d\left(u_{2 n+1}, T z\right) \leq \alpha d\left(u_{2 n}, u_{2 n+1}\right)+\alpha d(z, T z)$ or
$d\left(u_{2 n+2}, T z\right) \leq \alpha d\left(u_{2 n+1}, u_{2 n+2}\right)+\alpha d(z, T z)$
holds for every $n \in ¥$.
Taking limit as $n \rightarrow \infty$ and using the fact that $u_{n} \rightarrow z$ as
$n \rightarrow \infty$ we get
$d(z, T z) \leq \alpha d(z, T z)$
$\therefore d(z, T z)=0 \quad(\mathrm{Q} \alpha \in[1 / 2,1))$
$\therefore T z=z \quad(\mathrm{Q} d(x, y)=0 \Rightarrow x=y)$
This is a contradiction. Therefore in all the cases $\exists \mathrm{a} j \in \neq$ suchthat $T^{j} z=z$. Since $T^{n} z$ is a Cauchy sequence, we have $T z=z$.

Thus $z$ is fixed point of $T$.
Uniqueness: Let $z^{\prime}$ be another fixed point of $T$. Thus $T z^{\prime}=z^{\prime}$ From (2) we get
$d\left(z^{\prime}, z\right)=d\left(T z^{\prime}, z\right) \leq r d\left(z^{\prime}, z\right)$
Thus $d\left(z^{\prime}, z\right) \leq r d\left(z^{\prime}, z\right)$.

Therefore $d\left(z^{\prime}, z\right)=0 \quad(\mathrm{Q} r \in[0,1))$ and so $z^{\prime}=z$. Hence the fixed point of $T$ is unique.

## Example 3.1:

Define a complete metric space $X$ by $X=\{-1,0,1\}$ and a mapping $T$ on $X$ by $T x=0, \forall x \in X$.Let $\theta(r)$ be the mapping defined in above theorem. Then $T$ satisfy the conditions in above theorem. Thatis
$\theta(r) d(x, T x) \leq d(x, y) \Rightarrow$
$d(T x, T y) \leq \alpha d(x, T x)+\alpha d(y, T y) \forall x, y \in X$ and $\alpha \in[0,1 / 2)$
$x=0$ is the unique fixed point of $T$.

## III. Conclusion

In this research paper we have used the non-increasing mapping $\theta(r)$ defined by Suzuki and imposed the Kannan type condition on it to obtain a fixed point theorem.

## Acknowledgement

The authors are thankful to the referees for their valuable suggestions.

## References

[1] S. Banach, Sur les op'erationsdans les ensembles abstraitsetleur application aux equations int'egrales, Fund. Math., 3 (1922), 133-181.
[2] J. Caristi, Fixed point theorems for mappings satisfying inwardness conditions, Trans. Amer. Math. Soc., 215 (1976), 241-251. MR0394329 (52:15132).
[3] J. Caristi and W. A. Kirk, Geometric fixed point theory and inwardness conditions, Lecture Notes in Math., Vol. 490, pp. 74-83, Springer, Berlin, 1975. MR0399968 (53:3806).
[4] Lj. B. 'Ciri'c,A generalization of Banach's contraction principle, Proc. Amer. Math. Soc., 45 (1974), 267-273. MR0356011 (50:8484).
[5] I. Ekeland,On the variational principle, J. Math. Anal. Appl., 47 (1974), 324-353. MR0346619 (49:11344).
[6] I. Ekeland,Nonconvex minimization problems, Bull. Amer. Math. Soc., 1 (1979), 443 474. MR526967 (80h:49007).
[7] W. A. Kirk, Contraction mappings and extensions in Handbook of metric fixed point theory (W. A. Kirk and B. Sims, Eds.), 2001, pp. 134, Kluwer Academic Publishers, Dordrecht. MR1904272 (2003f:54096).
[8] W. A. Kirk, Fixed points of asymptotic contractions, J. Math. Anal. Appl., 277 (2003), 645-650. MR1961251 (2003k:47093).
[9] A. Meir and E. Keeler, A theorem on contraction mappings, J. Math.Anal. Appl., 28 (1969), 326-329. MR0250291 (40:3530).
[10] S. B. Nadler, Jr., Multi-valued contraction mappings, Pacific J. Math., 30 (1969), 475-488. MR0254828 (40:8035).
[11] P. V. Subrahmanyam, Remarks on some fixed point theorems related to Banach's contraction principle, J. Math. Phys. Sci., 8 (1974), 445457. MR0358749 (50:11208).
[12] T. Suzuki, Generalized distance and existence theorems in complete metric spaces, J. Math.Anal. Appl., 253 (2001), 440-458. MR1808147 (2002f:49038).
[13] T. Suzuki, Several fixed point theorems concerning $\tau$-distance, Fixed Point Theory Appl., 2004 (2004), 195-209. MR2096951.
[14] T. Suzuki, Contractive mappings are Kannan mappings, and Kannan mappings are contractive mappings in some sense, Comment. Math.Prace Mat., 45 (2005), 45-58. MR2199893 (2006m:54055).
[15] E. H. Connell, Properties of fixed point spaces, Proc. Amer. Math. Soc., 10 (1959), 974-979.MR0110093 (22:976).
[16] R. Kannan, Some results on fixed points - II, Amer. Math. Monthly, 76 (1969), 405-408. MR0257838 (41:2487).
[17] P. V. Subrahmanyam, Completeness and fixed-points, Monatsh. Math., 80 (1975), 325-330. MR0391065 (52:11887).
[18] Suzuki T., A generalized Banach contraction principle that characterizes metric completeness, Proc. Amer. Math. Soc., 2008, 136, 1861-1869.
[19] Kikkawa M., Suzuki T., Some similarity between contractions and Kannan mappings, Fixed Point Theory Appl., 2008, Article ID 649749, 1-8.

